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ENGLISH
Structure of Evaluation Tools

SA-2 (March) 2013

CLASS VI
Time: 3 hours Marks: 90
Sr. Topics Marks
No.
1 A Seen Paragraph (Comprehension) 10
2 Main Course Book 4x3=12
Short answer type (Do any four with internal choice)
3 Course book's exercise 19
4 Poetry 04
5 Paragraph writting with internal choice 10
6 Letter writting with internal choice 10
7 Story writting with internal choice 05
8 Objective type (Grammar) 20
CLASS VII
Time: 3 hours Marks: 90
Ques. Topics Marks
Part-A
1 A Seen Paragraph (Comprehension) 10
1| Main Course Book 4x3=12
Short answer type (Do any four with internal choice)
1 Main Course Book — Fill ups 09
1V Alphabetical order of words 05
A\ True and False 05
VI Poetry (short answer type with internal choice) 2x2=4
Ques. Topics Marks
Part-B
vii Notice 06
VIII Paragraph writting with internal choice 05
IX Letter writting with internal choice 08
X Story writting with internal choice 06
XI Objective type (Grammar) 20




CLASS Vi1

Time: 3 hours Marks: 90
Ques. Topics Marks
Part-A
I (a) A Seen Paragraph (Comprehension) 8+ 8=16
(b)An Unseen Paragraph (Comprehension)
1| Main Course Book 3x3=9
Short answer type (Do any three with internal choice)
I Main Course Book's exercise 5+4=9
(a) Fill ups
(b) Match the columns
v Poetry
(a) Short answer type (Do any two with internal 2x3=6
choice)
(b) Stanza with internal choice 2x25=5
Ques. Topics Marks
Part-B
v Objective type (Grammar) 20
VI Letter or application writting with internal choice 08
vl Notice/Telegram/News Paper Headlines 08
VIII Complete the Paragraph/Dialogue writting/write 09

paragraph with the help of outlines




tLass- g
3. English

STRUCTURE OF QUESTION PAPER
Theory: 70 marks

Time: 3 hrs. CCE: 30 marks )
Total: 100 marks - ~
.
Sr. Contents - Marks.
No. Boshrs Distribution
1 Unseen Paragraph/(Comprehension) 44 X2m=8 marks
Stanza i
2 English Main Course Book -9
(a) Short answer type (Any three out of 5 3gqX2m=6 marks
questions)
(b) Long answer type (One question with 5 marks
internal choice)
3 English Literature Book-9
Supplementary Reader
4 out of 6 questions 4qx3m=12 marks
4 Poetry
(a) Stanza (2 out of 3 questions based on the 2qx3m=6 marks
i given stanza) )
(b) Central idea/ long answer ‘ypeﬂgwith 1gx2m=2 marks
internal choice) S :
5 Objective type (Urammar) 12 marks
6 (a) E-mail messages (with internal choice) - . 4 marks
[ i (b) Telegram Writing /Note making (with 4 marks
J J\ internal choice)
|
, ] (c) Paragraph (with internal choice) 4 marks
|
|
| (d) Letter Writing (with internal choice) 7 marks

10
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3. ENGLISH
STRUCTURE OF QUESTION.PARER

Time: 3hrs. Theory: 70 marks
CCE: 30marks
Total: 100 marks
A |
Sr. Contents Marks
No. Distribution
1 Unseen Paragraphl((:omprehension) 4q x2m =8 marks
= Stania
2 English Main Course Book-10

(a) | Short Answer Type (Any three out ofIﬁ.Vc questions)

3qgx2m =6 marks

(b) | Long answer type (one question with internal choice)

1gx4m=4 marks

3 English Literature Book-10 (Supplementary Reader)

4 out of 6 questions

4qx3m=12 marks

4 Poetry
(a) | Stanza (2 out of 3 questions based on the given stanza)
ﬁb] Central idea/long answer type (with internal choice)

Vocabulary

2qx3m=6 marks
1qx3m=3 marks

4 marks

\
: T 1 Objective type (Grammar)

Message/Advertisement/ Notice/Note making (to

attempt any one out of the jiven two)
Paragraph (with internal choice)

(with internal choic 5

Letter Writing

12 marks

4 marks

11
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2. Afg-migeha yrushnt - 100 ¥ix
>Ht & niftmrfe 3: YRSTE nigt &t I3 ECIGES
1 3 5
1 4,8,9,10,11,12,13, 10 12 07 03
4 (F.Mh.),5E=.M.),6(F.f.)
2 B YAS 10 12 07 03 32
3 B Mo 10 24 21 15 70
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A<t (fefamrs)

A 2012-13
1. & AHT : 3 uie
2. feust Y50 vix
3. yuiatt Yt 20 wix
4. ALHELE ;30 vix B Ma:100
AoHS iftmrfe 5. fea vix | & nix fSs nix | A nix % A3
TH YAS | TO YAS | TS YAS | TS YAS
g 1,2,3,4,5,6,7,8 2 2 2 1 17
i 9,10,11,12 1 2 2 1 16
T 13,14,15,16,17,18,19,20 2 2 2 1 17
B YAS 5 6 6 3 20
IB M 5 12 18 15 50

5. HL.ALE AH nidls nix-35

1. nIdeHa yushet
2) f35 Hite=g 2He - 20+20+20 =60 M
)z fifemr (ASE9) - 70 Wis
) ft 593 Jthmrm(gg=dt) - 70 i

2. Afg-midefHa yushmt - 100 M

de: fod39 A=-tht Ueiae AatH T Hifs8s feras o Uama Ags faftmr d9s &t

29-AfEe (www.pseb.ac.in) 3 SUST T |
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